Questions 27-32: Dang MCQ

Cach lam:

- Doc cau hdi, so sanh v&i bai doc dé xac dinh vi tri doan théng tin

- Doc 4 Iya chon: thic ra day la 4 cau T/F/NG, v&i chi 1 cau TRUE, 3 cau con lai la FALSE/NOT GIVEN (lam ca 4

cau nhwng chi tinh diém méi cau TRUE). D& chac chén thi ké ca da tim dwoc phwong an TRUE réi, cling nén

kiém tra lai 3 phwong an kia xem c6 that ching la FALSE/NOT GIVEN khéng.

27 What is the main idea of the first paragraph?

Dap an chinh xac 1a D. The temperature of New Zealand
will increase less than that of other region in the next

Giai thich: Phan cubi ctia doan van gbéc néu Ién y chinh
clia doan. Phan nay tac gia dé cap dén viéc nhiét do cta
New Zealand (temperature in New Zealand) tang it hon
vung cwc Nam (polar region - y chi cwc Nam) va diéu nay
bat ngudn (stem from) tlr dai dwong bao quanh New
Zealand (its surrounding ocean). Y nay tring v&i y & cau
D. Vay D la dap an chinh xac.

Ly do cac dap an con lai chwa chinh xac:

DPoan dau:
However, the temperature in New Zealand will go up

40C in the next century while the polar region will go up
more than 60C. The different pictures of temperature

SESHINESH its surrounding ocean which acts like the air

conditioner.

A. The temperature in'the polar region will increase
less than that in New Zealand ifieRexticentury.

Dap an A néu Ién y rang nhiét ddé & cwc nam tang it
hon nhiét d6 & New Zealand & thé ky t&i. Y nay trai
ngwoc véi y cua doan van goc.

=> FALSE

However, the temperature in New Zealand will go up
40C iEREIREXTIGEntlny while the polar region will go
up more than 6oC. The different pictures of
temperature stem from its surrounding ocean which
acts like the air conditioner. Thus New Zealand is

comparatively fortunate.

B. The weather and climate of New Zealand is very

important to its people because of [{Slcloselocationitorne
polar region.

For many environmentalists, the world seems to be

getting warmer. ASithelnearest'country of the'South
PolarRegion, New Zealand has maintained an upward

trend in its average temperature in the past few years.



https://docs.google.com/document/d/1HL9Jn8ii5DBHGqvX38cDy9oeEixVNtY8LYnmlktfwJw/edit#bookmark=id.8pokzd5kjn1x

Doan van gbc khéng nhéc dén théng tin “The weather and
climate of New Zealand”.
=> NOT GIVEN

C. The air condition in NéW/Zealand will maintain a
high quality because of the ocean.

Y cuia cau C dé cap dén viéc diéu kién khéng khi (air
condition) ciia New Zealand sé giir dwoc chat lwong
cao nh& vao dai dwong. Y nay khéng dwoc nhac téi
trong doan van géc.

=> NOT GIVEN

However, the temperature in NéW/Zealand will go up
40C in the next century while the polar region will go

up more than 6oC. The different pictures of
temperature stem from its surrounding ocean which
acts like the air conditioner. Thus NeW'Zealand is

comparatively fortunate.

28. What is one effect of the wind belt that circles the

Southern Oceans?

Dap an chinh xac la B. New Zealand has to face more
severe droughts in hotter months'in'a'year.

Giai thich: O doan van géc, tac gid nhac dén viéc nhirng
thay dbi ciia vanh dai gié (changes in SAM) khién cho d6
4Am gidm (a weakening of moisture) vao mua hé va mwa
nhiéu hon vao cac mua khac. Diéu nay dan dén han han
nang trwdc mua déng. DAy chinh 1a dnh hwéng clia vanh

dai gio.

Ly do cac dap an con lai chwa chinh xac:

[...] call “SAM” (Southern Annular Mode), which refers to
the wind belt that circles the Southern Oceans [...]

Yet recent work has revealed that changes in SAM in New
Zealand have resulted in a weakening of moisture dUFing
the'Stimmer, and more rainfall in other seasons. A bigger
problem may turn out to be heavier droughts for
agricultural activities because of more water loss from soil,

resulting in poorer harvest Beforewinter when the rainfall
arrives too late to rescue.

A. NeW'Z&aland will have more moisturelin winds in

summer.

O doan van géc, tac gia coé dé cap dén viéc dd dm giam &
New Zealand vao mua hé. Y cla déap an A trai nguwoc lai y
nay cua tac gia.

=> FALSE

Yet recent work has revealed that changes in SAM in NEW
Zéaland have resulted in a weakening of moisture during

the summer, and more rainfall in other seasons

C.Soil water will increase as a result of Weakening

Yet recent work has revealed that changes in SAM in New

Zealand have resulted in a (liéakening ofmoisture during




O doan van géc, tac gia co dé cap dén viéc dd Am gidm
lam nwéc trong dat mat di nhiéu (more water loss from
soil). Y ctia dap an C trai nguoc véi y nay cla tac gia.
=> FALSE

the summer, and more rainfall in other seasons. A bigger
problem may turn out to be heavier droughts for
agricultural activities because of more water loss from

soil,

D. Agricultural production will be reduced as a result of

more rainfall in other seasons

Doan van gbc khéng dé cap dén théng tin san xuét néng
nghiép sé bi giam (Agricultural production will be reduced)
nhw trong dap an D.

=> NOT GIVEN

A bigger problem may turn out to be heavier droughts for
agricultural activities because of more water loss from soil,
resulting in poorer harvest before winter when the rainfall

arrives too late to rescue.

29. What does “moisture deficit” mean to the grain and

crops?

Dap an chinh xac la A. The productivity of crop
production will be URdErmMined.

Giai thich: Trong doan van gbc, tac gia dé cap dén viéc
khi si sut gidm d6 Am (moisture deficit) dién ra & giai

doan phat trién (growth stage) ctia vu mua, né sé lam

gidm 22% (22% reduction) san luat thu hoach (grain yield).

Vay diéu nay c6 nghia la ndng suét thu hoach cho vu mua
sé bi giam, twong dwong véi y ciia dap an A.

Ly do cac dap an con lai chwa chinh xac:

If moisture deficit occurs around a crucial growth stage, it

will cause about B2%reduction in grain yield as opposed
to moisture deficit at vegetative phase.

B. The growing season of some Plahts can hardly be
determined.

Doan van gbc khéng nhac dén viéc mua phat trién cla vai

loai cay tréng kho cé thé dwoc xac dinh (can hardly be

Meanwhile, ecological analyses clearly show moisture
deficit is imposed at different growth stages of Gfops. If
moisture deficit occurs around a crucial growth stage, it
will cause about 22% reduction in grain yield as opposed

to moisture deficit at vegetative phase.




determined).
=> NOT GIVEN

C. There will be a huge gap between the water
plants needed and the water the earth can offer.
Doan van géc gidi nghia “Moisture deficit” la “the gap
between the water plants need during the growing
season and the water the earth can offer”. Néu cau
héi chi la “What does “moisture deficit” mean?” thi
nhiéu ngudi lam sé dé nham day la ddp an dung.
Nhung y thuc su & day la “means to grain and crops”,
tdc la 3nh hudng clia Moisture deficit dén ciy trong.
Véay y C khong phai cau trd L3i cho cau hdi.

=> NOT GIVEN

Moisture deficit is the gap between the water plants
need during the growing season and the water the

earth can offer.

D. The soil of the grain and crops in _

reached its lowest production since the 1970s.

Théng tin cla ddp 4n D khdng xuat hién trong doan
van géc

=> NOT GIVEN

Measures of moisture deficit were at their highest

since the 1970s in _

30. What changes will happen to the skiing industry

due to the global warming phenomenon?

Pap an chinh xac la C. The snowfall-- in

parts of the skiing station.
Giai thich: G doan vin géc, téc gid cé dé cip dén viéc

khi nhiét d6 tang lén (the temperature goes up),

The snow line may move up as the temperature goes
up, and then the snow at the bottom will melt earlier.
Fortunately, it is going to be favorable for the local

skiing industry to tide over tough periods since the
qguantities of snowfall in some areas are _




lugng tuyét roi 8 mét sé khu vuc (the quantities of
snowfall in some areas) sé& cé nhiéu kha ndng ting
l&n (more likely to increase). Y cta ddp an C hoan

toan khdp vdiy cla tac gia.

Ly do cac dap an con lai chua chinh xac:

A. The skiing station may lower the altitude of

skiing

Ddp 4n A thé hién y: khu trugt tuyét cé thé ha thap
dd cao (altitude) cta chd trudt tuyét. Y nay khdng hé
dudc nhac dén & doan van géc.

=> NOT GIVEN

The snow line may move up as the temperature goes
up, and then the snow at the bottom will melt earlier.
Fortunately, it is going to be favorable for the local
skiing industry to tide over tough periods since the
quantities of snowfall in some areas are more likely

to increase.

B. Part of the skiing station needs to move to the

north.

Ddp 4n B thé hién y: mét phan cla khu truct tuyét
can chuyén vé hudng bic (move to the north). Y nay
khéng hé dudc nhac dén & doan van géc.

=> NOT GIVEN

The snow line may move up as the temperature goes
up, and then the snow at the bottom will melt earlier.
Fortunately, it is going to be favorable for the local
skiing industry to tide over tough periods since the
quantities of snowfall in some areas are more likely

to increase.

D. The local skiing station s likely to make a profit

because of the increasing -

Dép an D thé hién y: khu trudt tuyét nhiéu kha ndng
sé cd lgi nhuén (make a profit) nhd lugng tuyét rai

ting (increasing snowfall). Y nay khong hé xudt hién

The snow line may move up as the temperature goes
up, and then the snow at the bottom will melt earlier.
Fortunately, it is going to be favorable for the local
skiing industry to tide over tough periods since the
guantities of - in some areas are more likely

to increase.




trong doan van géc.

=> NOT GIVEN

31. Cumulative changes over a long period of time in

mass balance will lead to

Pap an chinh xac la A. Alterations in _
- of glaciers.

Alterations = nhitng thay déi (tusng ducng vdi
“changes”)

Giai thich: G doan vin géc, tac gid dé cap dén viéc
nhitng thay déi tich lly (cumulative changes) qua
nhiéu ndm (Over time periods of years) da dan dén
su thay d6i thé tich va dé day (volume and thickness)
clia cac khdi bdng. Y cta ddp an A tring khdp vdiy

nay cla tac gia.

Ly do cac dap an con lai chua chinh xac:

Over time periods of years to several decades,

cumulative changes in mass balance cause -

B. Faster changes in internal deformation and basal

sliding.

Poan van géc cd nh3c dén théng tin internal
deformation and basal sliding nhung lai khéng nhac
dén théng tin “faster changes in internal deformation
and basal sliding” nhu dap an B.

=> NOT GIVEN

[...] which will affect the flow of ice via altered

internal deformation and basal sliding.




C. Greater length of glaciers.

Poan van gbc cd nh3c dén su thay d6i & do dai
(length) clia cac tdng bang nhung khong néi d6 dai
tang lén (greater).

=>NOT GIVEN

Over time periods of years to several decades,
cumulative changes in mass balance cause volume
and thickness changes, which will affect the flow of
ice via altered internal deformation and basal sliding.
This dynamic reaction finally leads to glacier length

changes, [...]

D. Retreat of glacier tongues as a result of changes

Bai doc khéng nhac dén méi quan hé nguyén nhén -

k&t qua gilta “Retreat of glacier tongues” va “annual
atmospheric conditions”. M6i quan hé & bai doc chi La:
cai nay la dau hiéu (a more direct signal) cla cdi kia,
chu khong phai la cai nao gay ra cai nao.

=> NOT GIVEN

This dynamic reaction finally leads to glacier length
changes, the advance or retreat of glacier tongues.

Undoubtedly, glacier mass balance is a more direct

st o annual atmospheric conditions

32. Why does the writer mention NIWA in the sixth

paragraph?

Pap an chinh xac la A. To use a particular example to
BN o EFGUGHEBY SIEGET e
Glacier melting = bang tan

Giai thich: Y cla tac gid & doan thi sdu dudc thé hién
ngay & cau dau cta doan. G ciu nay, tic gia dé cap
dén viéc két qua nghién clru cdia NIWA cho thay rang
khéi bang ti€p tuc nhé n (move up) bdi anh hudng

cla su 4m &n toan cau (global warming). Y nay tring

The latest research result of National Institute of

Water and Atmospheric (NIWA) Research -

that the glacier line keeps moving up _




khdp véiy cha dap an A. Cac céu con lai trong doan
van chi dua ra thém cac vi du lam ro hon y cla cau

dau.

Ly do cac dap an con lai chua chinh xac:

B. To emphasize the severance of the further loss of

ce in M. Cook Region.

Trong doan van gdc, tac gid cé dé cip dén viéc bang
ma&t di nhiéu (further losses of ice) & khu vuc Mt Cook
nhu mét vi du khdc cho dnh hudng cta su dm én
toan cau. Y “nhan manh sy nghiém trong”

(emphasize the severance) cla viéc bidng mat di

khong dudc tac gid néu lén & day.
=> NOT GIVEN

Further losses of ice can be reflected _
-. By 1996, a 14 km long sector of the glacier
had melted down forming a melt lake (Hooker Lake)

with a volume.

C. To alarm the reader of the melting speed of

- at a uniform rate.

Trong doan van gdc, tc gid dé cip dén viéc tang
bang troi ngudc trd lai (retreat) ch khéng phai viéc
bang tan 3 t6c d6 khdong déi (at a uniform rate).
Ngoai ra, tc gia cling khéng thé hién y canh bdo

ngudi doc (alarm the reader) nhu & dap an C.

=> NOT GIVEN

Melting of the glacier front at a rate of 40 m/yr will
cause_ to retreat at a rather uniform rate.

D. To note the lake in the region will disappear when

Therefore, the lake will continue to grow -




Trong doan van gdc, tac gid dé cip dén viéc cdi ho sé
tiép tuc chay (grow) cho dén khi né ra dén (reach)
“glacier bed”. Tuy nhién, tac gid khéng dé cap dén
viéc cai ho bién mat (disappear) nhu'y cla ddp an D.
=> NOT GIVEN

Questions 33-35: dang Summary Completion

Cach lam:

Chu y: dé bai yéu cau dién khéng nhiéu hon hai ti

Xac dinh théng tin doan summary nam & doan nao trong bai nhé vao cac key words trong doan summary
Xac dinh nhanh tir loai cta vi tri can dién va doan y nghia cla vi tri d6

Tim théng tin cu thé trong doan van va dién vao ché tréng

Research data shows that sea level has a close
relation with the change of climate. The major
reason for the increase in sea level is connected
with [...]

Dua vao keywords trong doan summary, ta xac

dinh dudc doan van chua dap an la doan thu 7.

Poan thtr 7

A direct result of the melting glaciers is the chang

(¢}

of high tides that serves the main factor for sea

level rise.

The major reason for the increase in sea level is
connected with 33 _____
D4ap an can dién la mét danh tur.

Trong doan van géc, tac gia nhac dén thuy triéu

dang cao (high tides) la nguyén nhan chinh (main

A direct result of the melting glaciers is the change
of high tides that serves as the main factor for sea

level rise.




factor) khién muc nudc bién dang cao (sea level

rise) => dap an la high tides.

The increase in sea level is also said to h-

threat o the underground water system, the

destruction of which caused by rise of sea level

will lead to a high probability of -in 34

D4dp an can dién la mét danh tur.

Trong doan van gdc, tac giad nhic dén viéc xu hudng
muc nudc bién dang (The trend of sea level rise) sé
g4y ra mdi nguy cho hé théng nudc ngam (-
Ehreatito the Groundwatersystem) va co kha ning
(pose a possibility) lLam giam (decrease) san xuit
nong nghiép (agricultural production) => dap an la

agricultural production

The trend of sea level rise will _
_ for its hyper-saline

groundwater and then pose a possibility to

- the agricultural production.

In the long run, _ may have to improve
the3b______ if they want to _
produced by RGNS

Ddp 4n can dién la moét danh tur.
Trong doan van gdc, tdc gid dé cip dén cich tét nhat
dé lam gidm thiéu xu hudng muc nudc bién dang

(_ la dua ra tAm nhin dai han

(longer-term view) vé van dé nay. Sau dé, tdc gid dua

.

ra vi du cu thé: “coastal boundaries” can dudc nang

cdp => ddp an la coastal boundaries

Many experts believe that the best way to -

- is to give a longer-term view of-
- in _ Indeed, the coastal

boundaries need to be upgraded and redefined.




Questions 36-40: dang Yes/No/Not Given

Cach lam: Xem vé&i cac ndi dung chinh cta cau hai, cé tim dwgc cac ndi dung twong ng trong bai doc khong:

Néu toan bd ndi dung chinh cla cau hdi duoc tac gid nhic dén trong bai doc: dap an la Yes hoac No, ta so sanh y

nghfa cac ndi dung sé ra dap an cudi cung.

Néu khéng tim dd toan b nédi dung twong tng trong doan van (vi du: cau hdi cé 3 ndi dung chinh, nhwng doan van chi

nhéc dén 2/3): dap an la NOT GIVEN.

36. Not given
Farmers are less responsive to climate change than

agriculturists.

Giai thich: Du trong doan van gdc, tac gid cé nhac
dén “local people” (= farmers), “experts” (=
agriculturists) hay “global warming” (= climate
change), y “less responsive” cla ciu hdi khdng hé

dugc nh3c dén.

The emphasis on gloebal warming should be based on

the joint efforts of local people and experts who conquer

the tough period.

37. Not given

Agricultural sector is too_conservative and resistant

to deal with climate change.

DU trong doan van gdc, tac gid dé cip dén ngudi
néng dan (farmers) va nha néng nghiép hoc
(agriculturists) (cd 2 déu lién quan tdi agricultural
sector), y “conservative and resistant” khéng hé

dudc nhac téi.

For instance, farmers are taking a long term,
multi-generational approach to adjust the breeds
and species according to the temperature.
Agriculturists also find ways to tackle the problems

that may bring to the soil.

38. No

Turtles are vulnerable to climate change.

Experts have surprisingly realized that animals have

unconventional adaptations to global warming. [...]




Trong doan van goc, tac gia dé cap dén viéc dong
vat co nhirng su thich nghi khac la

(unconventional adaptations) véi su 4m lén toan
cau. Sau dé, tac gid dua ra vi du: rlia bién (sea
turtles) cé thé tré thanh con duc hodc cdi dua vao
nhiét dé. Vay, theo y tic gia, rua bién khéng bi tén

thuang (vulnerable) trudc su 4m Lén toan cau.

sea turtles can become male or female according to

39. Yes
Global warming is going slowly, and it may have

different effects on different areas in New Zealand.

Trong doan van gdc, tac gid dé cip dén viéc qud trinh
phat trién chdm (slow process) clia su 4m én toan
cau cb thé cé dnh hudng khac nhau (have a different
impact) dén cac vung khdc nhau (various regions) &

New Zealand. Y nay tring khdp véi y cla cau hdi.

Tackling the problems of global Warming is never

easy in New Zealand, because records show the Slow

process of global warming may have a different
impact on various regions.

40. No

they want to solve the problem of global warming.

Trong doan van géc, tac gid nhic dén viéc lugng khi
CO2 thai ra (emission of carbon dioxide) chi chiém
0,5% luong téng cla thé gidi (only accounts for 0.5%
of the world’s total), va lugng nay dat tiéu chuin cla
chinh phd (met the governmental standard). Vay,
theo y cla tac gid, New Zealand khéng can phai ct

gidm lugng khi thai CO2.

only accounts for 0.5% of the world’s total, which

has met the governmental standard.




